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WA 23.7 JtiEE 22.2 1512 1,123 1,123 10 Va9 LL
IZACA 19.4 E & 17.8 1,944 — 1,620 10 vay M
ZIES5 7.3 BERE 7.3 2,592 — 2,376 10 M
[E<ELY 22.4 £ B 22.1 1,944 1,296 918 15 A L
HTE 2.0 BERE 0.8 2,808 2,592 1,080 4f A M
CEOH 6.4 BERE 3.8 1,728 — 1,620 4f A M
FrRY 86.7 = 39.8 864 756 702 10 8
IE5NAZES 1.6 = I 0.1 - 238 — 02 A L
hE 8.1 ERE 45 1,188 972 756 3l A L
_hE 15 = B 0.8 4,860 4,212 3,888 3l vay S
_hE 2 [ 0.5 4212 2,592 2,268 3l A S
125 25 =0 1.3 3,240 2,700 2,160 5] vay
L) — 0.4 E % 0.4 — 3,240 — 10 A M
FRINGHR 2.1 BRE 0.1 — 124 — 0.1 L
LA 25.6 E % 25.5 1512 1,080 324 10 A 16
FoTHA 1.3 BRE 0.9 1,944 1,728 1,080 4f A L
=Y 19.0 =l 9.3 2,268 1,782 1,728 5] A M
=p5Y B K 5.9 1,512 1,080 972 5
ANESSES) 2.0 AXoa 1.1 3,240 2,592 2,592 10 vay 5
HY 10.1 B X 6.3 2,160 1,404 1,404 5] A L
Y =I5 14 2,376 — 2,268 5] A LL
<k 27.8 N 14.3 1,188 1,188 1,123 4 vay LL
d X & 10.4 1,620 1,404 1,296 4 A 24
S 4.1 EES 1.9 238 216 194 02| vay M
F—<> 6.7 X 7 3.0 86 — 65 0.15 A LL
E53ACL 44 B X 3.0 3,629 2,160 2,160 gl A LL
x93 24 BRE 24 92 76 56 0.1 A M
[ZA5Y 8.6 BRE 8.6 1,944 972 972 3l A L
SPVAITFA 0.1 X & - 1,296 - 150 A LL
MrAL& 5.0 E X 45 2214 1,728 1,674 5 M
IEhLs 17.5 £ B 16.4 - 216 - 10
[ECTRYNS BRE 1.2 — 324 — 10 L
[ECTRYNS BRE 432 - 324 10 LL
&L 0.5 BRE 0.4 1,242 821 821 2l A L
f=Fh&E 57.3 = B 43.0 3,240 2,700 1,080 20 va9 L
5oE&LD 1.0 BRE 1.0 — 432 — 10
ELLVE=T 1.7 BRE 0.2 — 108 — 0.1 L
ELLV=IT E 5 0.6 - 173 - 0.25| M M
ZDEET 45 K B 3.0 32 23 22 0.1 A
LoHL 2.2 2 [ 2.1 97 67 65 0.2
ESES T 402.3
B=

o fm B & E th = E hfE =7 & £ B
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BMAHMAEE 5.7
INDRFH A 5.7 BRE 0.9 4,860 4536 4,320 5/ A L
INDRFH A BRE 5,940 — 5,400 5/ A M
INDRFH A BIR 6,048 5,940 5,400 5/ A S
LEY 2.6 TA)H 0.6 7,344 — 7,236 17
INLUVT 6.9 TA)H 5.9 4,104 — 3,240 17
L7 2)1LY 0.2 m72Y 0.2 — 4536 — 15 50
YATE 16.0
3+TI)LK 8.2 5 & 8.2 5,616 — 5,400 10] vy 36
AL 6.8 5 & 6.8 7,452 — 7,344 10] vy 36
3HET 1.8
3% 1.8 Ly Fd 1.6 6,480 — 6,372 5| bya 16
FTHHE 0.8
ERGS 0.8 ERE 0.6 2,430 — 2,160 5] A L
B35 0.2 JtiEE 0.1 756 — 594 0.18] vay LL
fipYp) JeiEE - 756 — 0.18] vay L
fipYp) JeiEE - 702 — 0.18] vay M
SESE 1.9
To9x7F 0.5 =l 0.3 - — — PR LL
F5917F =I5 - 3,629 — 16 A L
To9x7F =I5 - - - PR M
Big 0.8 2 [ 0.6 — 540 — 0.3 B 3L
EA—* 0.3 = I 0.2 - 8,640 — 4 7
W5 0.1 BRE 0.1 162 — 140 025 A 25
W52 BRE - 324 — 025 A S
W52 TAH 724 — 648 0.28
AOVEF 42
7—ILA 1.1 EES 0.2 6,480 — 5,832 s| 1y LL
AAZ 1.0 Ik 0.9 3,240 1,836 1,836 5[ vay 4L
ZRAOY 1.5 B A 0.6 2,700 — 2,160 5[ vay 7L
FULIVAEL 19.4
ERAYA 15.8 BRE 13.8 2,376 - 2,160 6] A LL
ERRY BRE - 2,376 - 16| © 3L
ZEETLVH 3.6 BERE 28 5,400 4,320 4,320 0] A LL
INFF 16.4 EEY 16.4 4,320 2,991 2,948 15
INAFyTIL 39 EYEY 39 3,672 2916 2916 10 8
FoA4T)LY 24 ol B 24 4,968 - 4,320 5.8 27
BE#E 83.7




